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pi − pe = Δp =
2σ

R
�����

���� pi � pe ��� �� �������� ������� � ������� �� �������� ���������������� �
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��� fpeso = mg ⇒ fpeso = ρ4
3πR

3g

���� fTS = ΔP × area ⇒ fTS = ΔP4πR2
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fpeso = fTS ⇒ ρ
4

3
πR3g = ΔP4πR2

⇒ ρ
4

3
πR3g =

2σ

R
4πR2 ⇒ R2 =

6σ

ρg
⇒ R ≈ 5× 10−3m
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Δp = σ
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F z
TS = 2πR cos θσ �����
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Fpeso = ρπR2ρhg �����
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F z
TS = Fpeso ⇒ 2πR cos θσ = ρπR2ρhg ⇒ h =

2σ cos θ

ρgR
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